Chemistry 12 @ Worksheer 3-2

10. <Calculate the molar solubility of silver cﬁromate in water at 25°C. Show all your steps in a
logical manner. Correct use of units and significant digits counts (3 marks)
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11. At acertain temperature 0.0558 grams of SrF3 will dissolve in 500.0 mL of water.
Calculate the Ksp for SrF2 at this temperature. Show all your steps in a logical manner.
Correct use of units and significant digits counts (3 marks)
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12. Which is mest soluble in water at 25 °C, lead (II) bromide, lead (IT) chloride, lead (ID
iodide, or lead (II) iodate? (2 marks)
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13. Which is least soluble in water at 25 °C, lead (II) bromide, lead (II) chloride, lead (II)

. iodide, or lead (IT) iodate? (2 marks)
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